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BEH TR a(?F‘H) eS¢ b(?F‘ﬂ) *91)4/7 a$ ORBLE) | (OSBLE | (ORBLE | (T0RA)
BIF AOENSEBLOTS 24 20,422,295 19,091,377 93.5% 19 1 1 3
2R BUBILXECLEWERTES 6 2,235,198 2,185,269 97.8% 5 0 1 0
BIF R2TRETBNBLED 30 36,185,766 29,434.918 81.3% 23 1 2 4
BAE ACEBHRETDES 10 6,794,672 6,910,796 101.7% 7 0 0
= Hi 79 66,468,477 58,396,208 87.9% 62 3 4 10
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ER BREEEE (ERE)
K58 EEH $HEE (M) @@ (/) TR A B C D
a b b/a (90l E) | (80mLLE (70mBlE | (ToAR%wH)
90 A K H) 80 A K H)
1= ENENSERLDES 24 20,422,295 19,091,377 97.2% 19 1 1 3
1  BRECTROLTESEI MEBUHORELEEFEED(YET 12 20,099,126 18,758,666 93.3% 8 1 0 3
1 Ri2 - EH 1 4,500,769 3,915,159 87.0% 0 1 0 0
2 THT 4 1,444,686 1,691,547 117.1% 3 0 0 1
3 i 1 41,775 44,030 105.4% 1 0 0 0
4 R 2 13,089,058 12,362,740 94.5% 2 0 0 0
5 EBHEEL 1 202,329 150,205 74.2% 1 0 0 0
6 BRI - EE L 2 814,044 590,277 72.5% 1 0 0 1
7 2 A= 1 6,465 4,608 71.3% 0 0 0 1
EOH ENBARMEBL. BENBINDTFELEETCET 4 65,625 61,945 94 .4% 4 0 0 0
1 FEHLOBE 4 65,625 61,945 94.4% 4 0 0 0
WIH AEXANERNET. WENEE LEEESBHAEOYET 2 35.067 30,586 87.2% 2 0 0 0
1 EESE 2 35,067 30,686 87.2% 2 0 0 0
A  HEEPROLTEBCCEATERBEEEYET 3 167,373 184,770 110.4% 2 0 1 0
i BR - B 2 122,712 135,074 110.1% 1 0 1 0
2 BT 1 44661 49,696 111.3% 1 0 0 0
EhE AMEXEEL. HATMCEMLET 3 55104 55,510 100.7% 3 0 0 0
1 M - BLARSE 2 41,644 42,338 101.7% 2 0 0 0
2 T 1 13,460 13,172 97.9% 1 0 0 0
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E2E FYEINGXELEEMEBLESL 6 2,235,198 2,185,269 96.0% 5 0 1 0
E1E =M XEESRICBUSELEOCYET 2 1,848,666 1,819,157 98.4% 2 0 0 0
1 =4 - XAk 2 1,848,666 1,819,157 98.4% 2 0 0 0

EOE  UEWEEOCGHEE T L OEMLSEN LET 1 252,532 238,949 94.6% 0 0 1 0
1 AL E B 1 252532 238,949 94.6% 0 0 1 0

B3 BLLOTT (E50%k] £EHET 3 134,000 127,163 94.9% 3 0 0 0
1 AL D RlE 3 134,000 127,163 94.9% 3 0 0 0

FEIE TETRELGHNHDIESD 30 36,185,766 29,434,918 73.3% 23 1 2 4
FB1E RETROLTESEDIELEDCYETS 8 1,659,710 1,294,053 78.0% / 0 0 1
1 G - 45 2 71,925 42427 59.0% 2 0 0 0

2 stk 3 1,458,905 1,159,061 79.4% 3 0 0 0

3 e 1 24,465 20,665 84.5% 1 0 0 0

4 SELS 2 104,415 71,900 68.9% 1 0 0 1

EOH BRELELLEXR. HOBUVMHEREEEEDET 13 33,456,424 27,442,376 82.0% 9 0 2 2
1 EEPRENE 1 258,400 305,170 118.1% 1 0 0 0

2 i - 308 2 1,193,837 350,295 29.3% 1 0 0 1

3 Tk 5 24,429,944 20,278,608 83.0% 3 0 2 0

4 frE - EEIE 3 128,554 02,848 72.2% 2 0 0 1

5 INEHER 2 7,445 689 6,415,455 86.2% 2 0 0 0

5 3 %%iéﬁigé\ﬁiﬁaaéiﬁbwt NTIVRADENT=HHH D TH 5 604,230 340,690 56.4% 5 0 0 0
1 + H I £ 2 568,000 297,956 52.5% 2 0 0 0

2 248 3 36,230 42,734 118.0% 3 0 0 0

BAE  ELEEEL. ENHEEHEOCYET 4 465,402 357,799 76.9% 2 1 0 1
1 HMIX 2 37,482 26,274 70.1% 1 0 0 1

2 Y E 1 74,920 68,988 92.1% 0 1 0 0

3 K% 1 353,000 262537 74.4% 1 0 0 0
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RO BER STERE (FMA) EiEE (M) BITE A B C D
a b b/a (90A L E) (80 LA E (70&8LE (708 K%)
90 K 7H) 80 =K 7H)
FTA4E ANEBRDHEET HEDL 10 6,794,672 6,910,796 93.7% 7 0 0 3
EA1E]  BERERICL, PILELHOHLIELEO(YET 4 328,537 308,357 93.9% 3 0 0 1
1 BRI 1 8,101 5,221 64.4% 1 0 0 0
2 AEIREES 2 320,436 303,136 94.6% 1 0 0 1
3 AN - 7kal 1 0 0 - 1 0 0 0
EOE  BEAOBWOLBRVELED(YET 4 267,484 225,639 84.4% 2 0 0 2
1 HO KBRS 2 103,296 66,556 64.4% 0 0 0 2
2 ETRE 2 164,188 159,083 96.9% 2 0 0 0
B3 EEPOREENG LEREREOELSEO(YET 2 6,198,651 6,376,800 102.9% 2 0 0 0
1 HREBRLS 2 6,198,651 6,376,800 102.9% 2 0 0 0
BHE MREFTENEBICELCES 9 830,546 773,848 82.3% 8 1 0 0
B1E  HRLAKEDNS— TPy TDHEETEEEDCYES 2 5538 4882 88.2% 2 0 0 0
1 % - RS 1 0 0 - 1 0 0 0
2 ORI - 2 1 5,538 4,882 88.2% 1 0 0 0
BOKT  EHEOKYDEHOHLLNIZIAZTAEDCYET 1 3.000 1,612 53.7% 0 1 0 0
1 WS 2= - HEES 1 3,000 1,612 53.7% 0 1 0 0
BIH HERRICAIHOLVTHEEEEHELET 5 370,230 354,674 95.8% 5 0 0 0
1 HEREH 1 37,266 32,821 88.1% 1 0 0 0
2 TR 1 0 0 - 1 0 0 0
3 "0 - L 1 45,060 36,409 80.8% 1 0 0 0
4 B ECE R 1 287 454 284,994 99.1% 1 0 0 0
5 IR 1 450 450 100.0% 1 0 0 0
BAH ERBEERMEMREFOALISENLET 1 451778 412,680 91.3% 1 0 0 0
1 &1L T 451,778 412,680 91.3% 1 0 0 0
= H 79 66,468,477 58,396,208 87.9% 62 3 4 10
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